DATA SHEET :

TDS-00501017

Copyright(C)2007 3D Corporation

TWA-2400AN12

2.4GHz Omni Directional Antenna 12dB
LAAM 24GHERIE%12dB TS

FliE 12dB
BiREwE 2.4GHz
aR943 N *X
ME WHEHSR ATULR
Tk @24 x1210mm
EE 1150g
HERIERE -20°C ~65°C
FHKBrEREE K P65
HERE RoHs. CE. FCC

[ SpraEi

‘ 1210
EE 924 /\‘/\

e

Wt 7ay ERES—TIL5m TWC-09

ToTFY—ITOTI8— TYP-SPO3A(Rev.2)

NaRI5H

HEOUER- THAVETFERKERTHIELHYFET .

#hRXEetR)—T 14—

WEEREAA—D
R—ILE(C
ftE€ETE%E

A

Jun-20

154-0004 REAHESRAFELI-1-1FvOYrET—17F TEL:03-5431-5971 FAX:03-5431-5970 e-mail:info@3d-inc.co.jp



A / iy DATA SHEET : TDS-00501017
7’////;;[// //// //// Copyright(G)2007 3D Corporation
TWA-2400AN12

2.4GHz Omni Directional Antenna 12dB
£HEMYE 24GHEREE12dB 7V TF

BtESR
BftE&RTiE
2328
Oq_ii;@)
= -
ox0.8P
d) M5X0.8P
< | $»32.5%0.5 $|J 2
§ \_/ ¢ §
Py @—'?/Mexm
70.5%2
@@,waﬁe.sxu
X 60x2 :
_‘ 6x1.0P | @—@/ID%.le.St
" 9.8HEX x4.8%
LD
0
;46x11P
No. & & ME HE
A Screw M6 SUS304 1
B  Flat Washer SUS304 4
C  Spring Washer SUS304 4
D Nut M6 SUS304 4
E  Screw M5 SUS304 2
F Carriage AL 2
G U type screw SUS304 2
H  Alminum Tube AL 1
BROEH- THAVEFEUCKERTIIENHYET, Jun-20

#RXEHR)—F1—
154-0004 FEEHMHEAR K FE4-1-1FX+Oyr2T—17F TEL:03-5431-5971 FAX:03-5431-5970 e—mail:info@3d-inc.co.jp



